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1. BKEARR T (TR KH) (1-1)
Al =
# 3= T =1 E3
= —N4% wrE WK S+ B & -1 = BT | ¥E =B
& )
Z AR 1SO  [11+45+2+4+4+1+11+22+13+16=89+5=94 94
AR FL & 6 150 X5.0m U
3.5m+2.0m+1.7m+1.1m+3.9m=12.2m =54,
HEE
3.4m+2.6m+1.5m+2.6m=10.1m
ZHVE
ZOMESE SO 0.5m+2.2m+2. Im+4.2m+2.5m+4.5m+4.8m+0.5m+2. Im+3.9m+0.4m+2.3m+0.7m=30.Tm =74 7
B AKAAR) = FL & 6 150 X5.0m U
ZAMEE SO [1=1+1=2 P
AR F L& $ 100 X5.0m U
3.2m=14&
HEE
ZHEEEE SO [28m=1K 1
B KAz TF L 6 100X 5.0m N
% HEEEE SO [3.0m=1K 1
B KAz TF L 6 75X5.0m K
ZOEEEE SO [LAm=1K 1
B KHAAR)ZTF L 6 50 X5.0m K
SO 2+2+1+1 0.61 X 6 =3.66m 6
EF h =% X v R ¢ 150 X 45° #
1SO 1+1 0.53 X 2 =1.06m 2
EF h &% X v K| ¢150%x22° 1/2 1
1SO 1+1+1 0.49 X 3 =1.47m 3
EF A &% X v K| ¢150X11° 1/4 1
1SO 1+1+1+1+1 0.45 X 5 =2.25m 5
EF M =% ~ v K ¢ 150 X 45° 1
1SO 1 0.38 X 1 =0.38m 1
EF i % X v K|  ¢150x22° 1/2 i
1SO 1+1+2+1 5
EF Y 47 v b ¢ 150 1
SO 1 1
EF Y 47 v b ¢ 100 i
SO 1+1 2
EF Y 47 v b ¢ 75 1
1SO 1 1
EF Y 47 v b ¢ 50 ]
SO 1+1+1 $150 0.5 X 3 =1.50m ¢ 150 0.4 X 3 =1.20m 3
EF W % F — X 6 150X ¢ 150 #
1SO 1+1 $150 0.5 X 2 =1.00m $ 100 0.4 X 2 =0.80m 2
EF W % F — X 6 150X ¢ 100 #




1. BEKEMBRBT(CTX K (1-2)
A =
i B B = =
— 14 wmE KO+ B B -1 = B ¥E | wmE

1SO 1+1 6150 0.5 X 2 =1.00m 675 0.4 X 2 =0.80m 2

EF W % F — X $ 150X ¢ 75 {E
1SO 1+1 0.45 X 2 =0.90m 2

FZofr oo —4 6 200X ¢ 150 1]
1SO 1 0.36 X 1 =0.36m 1

LY a2 — % ® 75X & 50 {E
ISO SUS 1+1 0.44 X 2 =0.88m 2

EF 7 5 v ¥ % ¢ 200 ]
ISO SUS 1+1 0.23 X 2 =0.46m 2

EFS Ot 75 VRS 6 150 {E
ISO SUS 1+1 0.18 X 2 =0.36m 2

EFS Ot 75 VS 6 100 {E
ISO SUS 1 0.16 X 1 =0.16m 1

EF%Z O 77 T ¢ 75 1
ISO SUS 1 0.16 X 1 =0.16m 1

EFZ A7 V% ¢ 50 |
1+1 2

7 5 v Y M FE M ¢ 200 HH
[+1+1+1 4

7 5 v Y M FE M ¢ 150 HH.
1+1 2

7 5 v Y M FE M ¢ 100 HH
1 1

AV ) 075 HH
1 1

7 T v T M F M ¢ 50 i
1+1 2

7 7V T fH R A B ¢ 200 1
[+1+1+1 4

AR A ¢ 150 1
1+1 2

5L Uik e A 6100 [E
1 1

7 7 v T f R A A 075 |
1 1

7 7 v Y % K — b ¢ 50 |
4 1.02 X 4 =4.08m 4

PEFL MY 7 by — AL 87 ¢ 150 3
1 0.28 X 1 =0.28m 1

V7 Ry — )V H SR 6 150 P
BT 3E H 4 4

8 E K LA il




1. BKEARE T (2T RH)

(1-3)

Al =
g B =+
— 14 wrE WK S+ B & = BHAT| BE | HE
PEXPE ISO/] [1+1 2
AHRL o —T a1 MPP) ¢ 150 18
PEXVP ISOf |1 1
ABFIRL wP— a4 L NPV) ¢ 150X 75 1A
DCIPl -V 7o — 7|1 0.45 X 1 =0.45m 1
HT5FE(V-SFA) ¢ 250X ¢ 150 il
1+1 0.34 X 2 =0.68m 2
EF 7 5 v 2w % ¢ 150 A
CIP/H 2 2
Bl R W &) ¢ 150 1
H7I4—h 514.4+12.16+4.32+1.56+4.08+0.28+0.45=537.29 537.2
O O v — b W=150 m
537.2 537.2
% W OorR T = 7 W=30 m




1. BEKEMBRBT(CTX K (1-4)
D =
# 3= T =1
1 —N4 g7 ® & -1 B ¥E | wmE
G )
R BEA 89 X5.0+12.2+10.1+30.7=498.0+16.44=514.44 514.4
RV F U A% T ¢ 150 m
HBFEER 3.66+1.06+1.47+2.25+0.38+1.5+1.2+1.0+1.0+0.9+0.88+0.46+0.68=16.44
6 150
s P 1X5.0+3.2+2.8=11.0+1.16=12.16 2.2
RV F U A% T ¢ 100 m
HBFEER 0.8+0.36=1.16
6 100
s BB 3.0=3.0+1.32=4.32 13
RV F U A% T ¢ 75 m
HBFEER 0.8+0.36+0.16=1.32
675
s B 1.4=1.4+0.16=1.56 16
RV F U A% T ¢ 50 m
HBFEER 0.16
6 50
22 29
RV FL o EY M T ¢ 150 .
2 2
RV FLEY M T ¢ 100 .
1 1
RV FL o EY M T ¢ 75 .
1 1
AU F LT ¢ 50 M
EF (10T 2 2
RV F L kT T ¢ 200 M
EF (10T 94+6+2+2 104
RV F L kT T ¢ 150 M
EF (10T 2+2 4
RV F L kT T ¢ 100 M
EF (10T 1 1
Rz FL U EHFET 075 -
EF (10T 1 1
RYxF L kT T ¢ 50 M
EF (20T 5+1+5+3+2+2 18
RV F L kT T ¢ 150 8
EF (205KTF) 1 1
RV F L kT T ¢ 100 8
EF (20T 2 2
RV F L kT T ¢ 75 8




1. Bl AREMRE L (2K KiH) (1-5)
> 2
% il
71— wmE KR T gt B BE | #E

EF QOf#F) |1 1

R FLEHMF T ¢ 50 5]
CIP 2 2

B 8% & ) W T 6 150 .
HIVP 1 1

= v B Y W ¢ 675 5]
2 2

7 7 v T M FE T ¢ 200 =
4 4

7 7 v T M FE T ¢ 150 =
2 2

7 7 v Tk F T ¢ 100 5]
1 1

7 7 v T ik F T ¢ 75 ]
1 1

7 7 v T ik F T ¢ 50 ]
PRI 4+1 g

o e &k E T ¢ 150 A
4 4

) P & OB E T A-BJE H T
AN=TIVRF 12X 2+1 5

RITF L EMTE LT ¢ 150 |
142 3

AH =B fkF T ¢ 150 5|
1 1

A A =V fkFE T ¢ 75 =
2 2

77y RAL T ¢ 200 i
2 2

77y RAL T ¢ 150 i
2 2

77y RAL T ¢ 100 i
1 1

7V ERAL T 675 i
1 1

7V ERAL T ¢ 50 i
DCIPH 1 1

N S $ 250X ¢ 150 i
537.2 537.2

HEERIE AR S — MR T m
519.19 519.2

TR T — T i g% T ¢ 150 m




1. BEKEMBRBT(CTX K (1-6)
A =
# B A =+
71— 44 wmE WK -+ B B -1 = Hir| %E | HE
12.16 12.2
BHORT — TR L $ 100 m
4.32 4.3
BHORT — TR L ¢ 75 m
1.56 1.6
EHRT AR L ¢ 50 m
537.2 537.2
Br—F 4 I —T. m ML
CIP%& 483.6/3=161 161
BEZX B i £ B W © ¢ 150 =]
VP& 12.2/3=4 4
BEY B i £ B W © ¢ 100 =]
VP& 4.3/3=1 1
BEEY B i £ B W © ¢ 75 m]
2 1
8 5 £ Bk T A-BJE s
e & B Lk F 483.6 483.6
AL L 6 150 m
WL = L& LT 12.2 12.2
AL L ¢ 100 m
R = L& LT 4.3 4.3
AL L 075 m
WL = L& LT 1.6 1.6
AL L 6 50 m
E = 12.2m( ¢ 100HIVP%5) X 3.338kg/m+4.3m( ¢ 75HIVPF) X 2.156kg/m+1.6m( ¢ 50HIVP%%) X 1.098kg/m=51.75kg 51.8
BT TAF v IRy B kg
66kg(F [ L &1 dn7-0) X 247 7+483.6m( ¢ 150CIP4%) X 48.3kg/m=(132+(23357.88 X 0.7)) = 16482.52kg 16482.5
AV kg
A1 E B 16482.5 16482.5
&k < i kg
5 5
iE #| 4tdF-15 10kmET A




-1 -2 -3 -4 -1 -2
@ 150 As ¢ 100 @75 @ 50 @ 150; @ 150; @ 150; @ 150
L=484.4m L=12.4m L=3.7m L=2.4m L=5.8m L=25.5m L=4.4m
968.80 24.80 7.40 4.80 7.14 1,012.94 51.69 1,064.63 1,065.0
t=10cm
BH0.28m? 1461.19 - 1.71( 1,459.48 1,459.0
t=10cm
303.72 7.43 2.14 1.35 3.76 9.82 2.86 4.79 335.87 336.0
BH0.28m?
115.56 2.77 0.77 0.47 1.38 6.08 1.05 1.71 129.79 130.0
82.59 211 0.63 0.41 1.91 3.09 1.69 2.02 94.45 94.0
BH0.28m?
RC40 0 266.42 6.82 2.04 1.32 2.84 279.44 279.0
t = 25cm
M-25 266.42 6.82 2.04 1.32 2.84 279.44 279.0
t=10cm
20F 1461.19 - 1.71( 1,459.48 1,459.0
t=4cm 1.4
40 0 3.19 3.19 3.0
t=10cm
BH0.28m3 221.13 5.32 1.51 0.94 1.85 6.73 1.17 2.77 241.42 241.0
4t-2km
2.37 2.37 2.0
H=2.0m
BH0.28m?* 1459.48x 0.04 58.38 58.0
2t-7.6km
58.38 58.38 58.0
M-25 . . 1459.48- 0.55% 484.4+12.4+3.7+2.4+5.8+25.5+4.4 1163.25 1,163.25 1,163.0
5 18 i i
( ) 14.00 14.00 14.0
( ) 15cm
( ) 21.30 21.30 21.0
15




@ 150

-1 DP=0.9
L = 4844 m 106.5+107.4+0.8+268.3+1.4 484.4
484.4 x 2 968.80 968.80
t=10cm
BH0.28m?* 0.00
t=10cm

0.55 x 1.14 x 484.4 303.72 303.72

BH0.28m*
0.55 x 0.48 - 018 *x 11 4 x 4844 115.56 115.56
0.55 x 0.31 x 484.4 82.59 82.59

BH0.28m*
RC-40 0 0.55 x 484.4 266.42 266.42

t = 25cm
M-25 0.55 x 484.4 266.42 266.42

t=10cm
20F 0.00

t=4cm 14
BH0.28m3 303.72 82.59 221.13 221.13

4t-2km
BHO0.28m?* 0.00

2t-7.6km
0.00
M-25 0.00




As ¢ 100

-2 DP=0.9
L= 124 m 3.5+8.9 124
124 x 2 24.80 24.80
t=10cm
BH0.28m? 0.00
t=10cm

055 x 1.09x 124 7.43 7.43

BH0.28m’
055 x 043 - 013 *x 1 4  x 124 2.77 2.77
055 x 0.31x 124 2.11 2.11

BH0.28m*
RC-40 0 0.55 x 12.4 6.82 6.82

t = 25cm
M-25 0.55 x 12.4 6.82 6.82

t=10cm
20F 0.00

t=4cm 14
BH0.28m3 7.43 2.11 5.32 5.32

4t-2km
BH0.28m?* 0.00

2t-7.6km
0.00
M-25 0.00




10

© 75
-3 DP=0.9
L= 37 m
3.7 x 2 7.40 7.40
t=10cm
BH0.28m? 0.00
t=10cm
055 x 1.05x 3.7 2.14 2.14
BHO0.28m’
0.55 x 0.39 - 009 *x T 3.7 0.77 0.77
055 x 0.31x 3.7 0.63 0.63
BH0.28m*
RC-40 0 0.55 x 3.7 2.04 2.04
t = 25cm
M-25 0.55 x 3.7 2.04 2.04
t=10cm
20F 0.00
t=4cm 1.4
BHO0.28m3 2.14 0.63 1.51 1.51
4t-2km
BH0.28m?* 0.00
2t-7.6km
0.00
M-25 0.00




11

® 50
-4 DP=0.9
L= 24 m
24 x 2 4.80 4.80
t=10cm
BH0.28m? 0.00
t=10cm
055 x 1.02x 2.4 1.35 1.35
BHO0.28m’
0.55 x 0.36 - 006 °x T 2.4 0.47 0.47
055 x 0.31x 24 0.41 0.41
BH0.28m*
RC-40 0 055 x 24 1.32 1.32
t = 25cm
M-25 055 x 24 1.32 1.32
t=10cm
20F 0.00
t=4cm 1.4
BHO0.28m3 1.35 0.41 0.94 0.94
4t-2km
BH0.28m?* 0.00
2t-7.6km
0.00
M-25 0.00




12

@ 150
DP=0.9
L= 58 m
055 x 1.18x 538 3.76 3.76
BH0.28m*
0.55x 048 - 0.18 *xm 4 x 58 1.38 1.38
055 x 0.60x 5.8 1.91 1.91
BH0.28m*
40 0 0.55 x 5.8 3.19 3.19
t=10cm
BH0.28m3 3.76 1.91 1.85 1.85

4t-2km




13

¢ 150
-1 DP=0.42
L= 255 m
0.55 x 0.70x 255 9.82 9.82
BHO.28m*
055x 048 - 018 2x T 4 x 255 6.08 6.08
0.55 x 0.22x 255 3.09 3.09
BHO.28m*
BH0.28m3 9.82 3.09 6.73 6.73

4t-2km




14

¢ 150
-2 DP=0.9
L= 44 m 2.2+2.2 4.4

0.55 x 1.18x 4.4 2.86 2.86

BH0.28m*
0.55 x 0.48 - 0.18 *x T 4 x 4.4 1.05 1.05
0.55 x 0.70x 4.4 1.69 1.69

BH0.28m*
BHO0.28m3 2.86 1.69 1.17 1.17

4t-2km




15

¢ 150
12 + 237 )x 2 = 714 7.14
t=10cm
BH0.28m? 0.00
t=10cm

1.2 x 2.37 )x 1685 = 479 4.79

BH0.28m?
1.2 x 237 )x  0.625 - 0.27 °x Tt 4 x 1.2 = 171 1.71
1.2 x 2.37 )x_0.710 = 2.02 2.02

BH0.28m?
RC-40 0 1.2 x 2.37 = 284 2.84

t = 25cm
M-25 2.84 = 284 2.84

t=10cm
20F 0.00

t=4cm 14
BHO0.28m3 4.79 2.02 = 277 2.77

4t-2km
2.37 = 237 2.37

H=2.0m
BH0.28m?* 0.00

2t-7.6km

0.00




2. HkteEHE L (2K KH) (2-1)
> =
# 3= 5
% mE K+ it W e
& #)
ZOMESE SO [2.4m =LK 1
B KHAAR)ZTF L 6 75X5.0m A
ZOMEEE SO [2.0+2.0+0.5+0.5= 5.0m =1k 1
Bl KRRz TF L 6 75X5.0m PN
1SO 1+1 $150 0.5 X 2
EF W % F — X ¢ 150X ¢ 75 n
1SO 1 675 0.1 X 1
EF W =% F — X & 75X 675 n
1SO 1+1 2
EF Y 4 v b ¢ 75 1
PEXVP ISO/H |1+l 2
AHBIRL o —af L MPV) 675 1
ISO SUS 1+1+1 3
EFZ A7 V% ¢ 75 18
1+1+1 3
7 7 v T ik FE M ¢ 75 @
1+1+1 3
7 7 v 2 4l e B ¢ 75 1A
JENB3K T~ Ay b7 745 (1 1 LA A
b A -V - MDA B ¢75 J i
Y FIA—k 10.0 10.0
MO PR Ak v — b W=150 m
10.0 10.0
B W OorR 7T = T W=30 m




2. HkteEHE L (2K KH) (2-2)
> =
# 3= 5
71— 14 g7 ® & BAr| & e
G )
BlAEHES 2.4+5.0+2.63=10.03 10.0
AV FL U ERZE T ¢ 75 m
HBFEER 1.0+0.84+0.1+0.25+0.48=2.63
675
4 4
RV F L EY W T ¢ 75 N
EF (10T 1+3 4
AV FLUEHRFE T ¢ 75 O
EF (20T 2 2
RV F L kT T ¢ 150 n
EF (205KTF) 1+2 3
RV FLEHMF T ¢ 75 N
AN =HNAEF (141 p)
AV FLUERFE T ¢ 75 O
HIVP 2 2
v = v % Y kT 075 =]
1+1 2
A= H Lk FE T 675 I
3 3
7 7 v T i FE T ¢ 75 A
EARIN 1 1
Mok ke @& B T ¢ 75 3
10.03 10.0
WY — MR T m
10.03 10.0
EHRT— T A% T 675 m
10.03 10.0
Br—F 4 I —T. m ML
VP& 10.0/3=4 4
BE 2% fi k) W T ¢ 75 N
WL =L BT 10.0 10.0
AL L 675 m
% 10.0m( ¢ 75HIVPS) X 2.156kg/m=21.56 21.6
BE TG AF v ALy B kg
1 1
M ok # M E T ¢ 75 i
125kg(FH kA& 1 T db7-0) X 17 FT = 125kg 125.0
B8k wm s B kg
il B B 125.0 125.0
B < 7 kg
1 1
b Z| 2tH-1H 10kmFET [




2. Wkt T(2TX KH) (2—3)
% = g (-1 =
a—p 4 b IR NI IR S Bl % & i &
R QB85 LI@38t LIOS8k Ll 4. zoftdo | |
Bk i T BTSEAs ¢ T5{minkai o 75{0TEAs ¢ 75 :
e olbEBam b L=dm b L=lSmo b | L.
IS R 6.20_ i i 300 oo _i=_0.9200 o . T8990 =0 L dp L 1_5_95____
7 A7 7 )V b8 L t=10cmPA F = ;
o BHO.28m’ ___ | ____ Y0 S S 58T PAIXICED) 4 .: e SR 1| L2 8.01
A2 R B EE L OB A A t=10cmPh F - :
o SREIRDA ] . L79 i __: 2.64_ L 087 4.7 TioooB30 s 5.0
A S N - || N BHO.28m’ — 5
I R 0.65_ _j____{ 0.92_ 1 0.3 4 ... =i ] 188 sl 2.9;5....
[ A % T (R = :
e Bt S o 0.53__j____] 169 i 0.26 ... oo 248 sl 20
- T S S - S BHO.28m’ - ;
_..._RC40~0 ___|_____ LT 08 L ldl..: e 2556 | RN 2 IS 3_~9,E____
T & & i T t = 25cm _ E
e Mz2o . LT 08 L dll.: TioL 2P el 300 .
il= = & i T t = 10cm = H
CFAEFRIEEAS20F | . Y0 U S 58T BAIXICED) 4 .: it S | 2 SN 8.01
*= J& T| t=4em IE1.400 1 — :
__BH0.28m3 £#) | 126§ ___( 0.95_ i ___0.61 i ... T 2820 el 3.00
o+ wm BT 4t-2km - ;
_.BHO28m As | 007 i L_.lL.0.23 (BSTAX0.04) L. =1 0300 o[ 0.3,
7 A7 7 ov b E T 2t-7.6km i i - ;
R 007 | 023 b =030 L 0.3
TAT Vb G B = |




2. kLT (TR Kit)

) & 5 " &
a—p £ R RIS HAL K =4 il
Y X R R N
O-3+ T DP=0.9 H
S A L= 31 m . 0.5+2.6=3.1 el e
I B X2 =820 o b 6.20,
T A7 7 b8 T t=10cm2L T X
__..BHO.28m' | 0.55_ X 3.0l N 0 N L7
A BRI B L RGA B -10emBhF " :
L mEIERA | O 055 X 1.05 X _ 3.1 ... = LT9 . P 179 .
o T SR ;N - | R BH0.28m’ ;
) (055 %0397 009 P X m L4 ) X B0 = 065 . P 065,
w A ® T (Rt :
I - o - 055 X 031X _ 3.1 ... = 053 . P 0.53____
s HE = T BHO.28m’ '
. RCoa0~0_ | .1 0.55_ X 3.0l N 0 N LI
T @ LDt% % T t = 25cm m '
I M=25_ ] 0.55_ X 3.0l N 0 N L7
i & # % T t = 10cm m E
CFFAEERIEEAS20F || 0.55. X 3.0 ... N 0 N L7
* & T| t=dem #gL4ASLE m !
__BHO.28m3 5 | L79. = 083 o = W26 .. P 126
53 + o BT 4t-2km '
___BHO.28m" As__| ! 055 X _0.04 X 3.1 ... = 007 . P 007
7T A7 7 )u b E BT 2t=7.6km !
SRR A 007 =007 T 0.07:____
T AT 7 v by




2. Wkt T(2TX KH) (2—5)
% = 5 (-1 =
a—p 4 4 IR NI IR Bl % & i &
e - N I SRS
@31 T DP=0.9 :
[ R L=_44 m____________ 2.041.9+0.6=4.4 | e L
o PRHEIRDA ] 0.5 X 1.09 X_ 44 ... =264 ... INER 2_~_6f1_§____
A S N - || N BHO.28m’ :
] (0550039 7 0,09 P X LA ) X AA =092 T 0921 ___
W A = T REEW :
e Bt S ] 0.55_ X 0.70 X __ 4.4 ... = 169 ... m? emeen 1.69:
o 5 1| BHO9SKW :
__BHO0.28m3 f#5 | __: 264 — _1.69 L l..C = 08 ... m? emeo Q~_9_5_§ I
53 + o BT 4t-2km |




2. kLT (TR Kit)

# B i -1 =
a—} 4 T ¥R F ik v B B S
CMEAS 75 |
@—Bj: T DP=0.9 i
S A O U N I S
I R T =300 o b 3.00,____
T A7 7 b8 T t=10cm2L T X
L BHO28m' | EARICKD. S e o 0.00
S %5 MU EE U RN OA | t-10emBAT o :
L mEIEA | 0.55 X 1.05X_ 15 = 08T T 0.871
o T SR ;N - | R BH0.28m’ ;
] (055.X039- 009 "Xm A X L5 = 081 T 031
[ A K% T (R i
I =S 0.55 X 031X 15 = 026 T 0.261
1 H = T BHO0.28m’ '
__RCH0~0 | 0.55 X L5 = 083 o 0.831
T @ LDt% "ﬁ% T t = 25cm m '
] M25 | 0.55 X L5 = 083 o 0.83;___
i = hes % T t = 10cm m E
CFAERIEAS20F | 055 X L5 = 083 o 0.831_
* =] T| t-dem 1.4 L m :
__BHO.28m3 £y | 0.87 — 0.26 = 06l S 0.611
53 + o BT 4t-2km '
_BHOZSm As | RHEICKD S o Lo 000
7T A7 7 )u b E BT 2t=7.6km !
S A ERFCRS. S T 0.00;____
T A7 7 v b




3. faK AR T (2TIX KH) (3-1)

— 14 wmE KO+ B B -1 = B ¥E | wmE
& )
HIPEPH] - ISOHit% |8 8
B gL NV ki $ 150X ¢ 20 HH.
8 8
A KA HkE O F ¢ 20 1
4.0m 2.4 2.4
M B v e ke = L ¢ 20 m

16 16
HI — Y 4% v b ¢ 20 |




3. MEAEARAE T (2K KH)

(3-2)
- —— - vy | %E | @z
G-
HIPEPH 8 :
5 K o B GA B T| ¢150% ¢20 .
HIVP 2.4 -
SN - T S ¢ 20 N
HIVP 818 ;
= L %8 kT ¢ 20 -
16 X2 N
T S #k F T ¢ 20 -
2.40 -
0y =747 04— 1 - -




4. ARBLAE AR T (2K KHH)

(4-1)
14 = 5
— 14 wmE KO+ B B BT HE e
& #
1 [GIE9) 1 [vozLv ¥
5% AT v L A& Bk 150A =X 60 H
1 [GIE9) 1 [z
REE AT L A% 8B 80A Y 60 H
1 [GIE9) 1 [vozLv ¥
REE AT L A% 8B 50A Y 60 H




4. REERR L (2L KH) (4-2)
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